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QUESTION 1

You receive a request to create a new menu. Instead of creating a new menu, you modify an existing 

menu and save it to a different User Menu Name. 

What happens after saving the menu with a different User Menu Name? 

A. There will be two menus. 

B. The original menu is disabled. 

C. The new menu will not contain any functions. 

D. The new menu will overwrite the original menu 

Correct Answer: D 

 

QUESTION 2

The warehouse has received new stock from an internal distribution warehouse. 

Which two receiving transactions can be used to put stock into the warehouse\\'s inventory using the 

Intransit Inventory? (Choose two.) 

A. Direct Receipt 

B. Standard Receipt and Delivery 

C. Inter organization Direct Receipt 

D. Inter organization Receipt and Delivery 

E. Inter organization Miscellaneous Receipt 

Correct Answer: CD 

 

QUESTION 3

Event types in sub ledger accounting are a grouping of_____. 

A. events 

B. accounts 

C. event models 

D. event entitles 

E. event classes 
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Correct Answer: E 

 

QUESTION 4

Company X has three Operating Units: A, B, and C. Each Operating Unit has the MO: Security Access profile option
called ABC Security assigned. Operating Unitahas froth the MO: Operating Unit profile option and the MO; Default
Operating Unit profile option assigned to it. 

Which statement is true? 

A. Paul can create transactions for the A, B, and C Operating Units. 

B. All transactions created by Paul are automatically assigned to the Operating Unit A. 

C. Paul can report on data across A, B, and C Operating Units, but enter transactions only against A. 

D. The profile option did not include Operating Unit B and Operating Unit C due to an error by the system administrator. 

E. The Payables responsibility is linked to the Operating Unit A by the MO: Operating Unit profile option and can create
transactions for that Operating Unit alone. 

Correct Answer: A 

 

QUESTION 5

XYZ is a metal fabrication company. It wants to classify all metals and plastics into two major groups. There are many
subgroups in metals and plastics. All the subgroups are linked to their major group. This group classification is
extensively used in all the reports in the organization. 

Which Oracle functionally can meet the above requirement? 

A. Catalogs 

B. Categories 

C. Catalog and categories 

D. Category Set and Categories 

E. Group key flexfield enabled in the reports 

Correct Answer: D 
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